Thirteenth Annual Elementary

@Lﬁ CAMWS College Greek Exam (2021) @m
TIME: 50 MINUTES DO NOT USE A DICTIONARY

There is only one correct answer/choice for each question. Choose the BEST POSSIBLE ANSWER.

1. The case and number of the noun dpoug is
a) genitive singular. c) nominative plural.
b) accusative plural. d) genitive plural.

2. The aorist tense form 1veykov corresponds to which present tense verb?

a) éxw ) péow
b) éoxopat d) opaw

3. Who wrote a history of the Peloponnesian War?
a) 6 ‘Ounoog ) 0 ®ovkvdidng
b) 6 ZogpoxAng d) o ITAd&twv

4. Which is the comparative adjective that corresponds to ToAvUG?
a) mMAelwv c) PeAtiwv
b) koeltT@wv d) moétepog

5. The singular of TavT« is
a) ovtoc. C) Tic.
b) Tovto. d) éxetvoc.

6. The English word “dynamite” is derived from the Greek word
a) datpwv. ) dWVaLG.
b) dvvapuc. d) dldwp.

7. Which verb is correctly accented?
a) Yoa@opeOa ) yoagoueOa
b) yoagopev d) Yoagpopev

8. The tense and voice of teloag are

a) aorist active. c) present active.
b) future active. d) aorist middle.
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9. The form of the definite article that agrees with yvvaiuka is
a) 1. ) at.
b) Td. d) tv.

10. Choose the adjective that best completes this sentence:

TO €0vog Ao EL Hdxag.
a) pein €) Hoeing
b) pvotag d) poin

11. Choose the best translation of this sentence:
Ot Tx mveLpaTta el HéEVELY €V TN olkia.

a) Through the winds it seems best to remain in the house.

b) Because of the winds we are able to remain in the house.
c) Because of the winds it is necessary to remain in the house.
d) Because of the winds he cannot remain in the house.

12. Choose the alternative that is closest in meaning to this sentence:
0 OTEATI YOG £lTtE TOV POBOV ElvaL TTOVIQOV.

a) 0 @oPog, 0 oTEATI YOGS €¢n), TOVNEOS EOTLV.

b) 6 otoatnyog AéyeL Tov poOPov elvatl Tovneov.
C) 0 POPOoc, 6 0TEATN YOS AéyeL, TOVNEOG E0TLV.

d) 6 oteatnyog Aéyet 6tL 6 POBog TTOVNEOS E0TLV.

13. The underlined words in this sentence could be replaced by:
0 &deA@OG 0¢g PovAetal pavOavewy v aAnbelav ApaQTAVEL

a) fovAwv ) povAdpuevov
b) BovAdpevog d) BovAnoopevog

14. Choose the preposition that fits correctly into this sentence:
1) TTOAEL Ol o TAL TEEPOLOL TIV XQETIV.

a) €K C) Kata
b) V1O d) év
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Which of the following forms best completes this phrase:
oL AQXOVTEC TLIOTEVOLOL

a) TolG HAQTLOLV. C) O HAQTUG.
b) Tov pagrtuoc. d) Ttov paprtuea.

The tense and voice of 6pwvtat are
a) present active. c) present middle.
b) imperfect active. d) imperfect middle.

The aorist tense form émecov corresponds to which present tense verb?
a) TMTw ) mavw

b) metBw d) mépunw

Choose the pronoun that correctly completes this sentence:

£0€AeL oroTtelv TOV lATEOV ¢owoe 10 owuA.
a) @ c) ob
b) 6¢ d) ot

Choose the verb that best completes this sentence:

T €0vn TNV elprvnv.
a) dyyéAAovot ) ayyéAAovtal
b) ayyéAAet d) dyyéAAeto

The tense and voice of douevog are
a) present active. c) present middle.
b) perfect active. d) aorist middle.

FOR THE FOLLOWING QUESTIONS, PLEASE CONSULT THE READING
PASSAGE, WHICH YOU MAY FIND AT THE END OF THE EXAM.

In line 1, Procopius implies that the streets of Byzantium
a) connected at the marketplace.
b) were deserted.
c) were difficult to navigate.
d) were filled with corpses.
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22. In line 2, Procopius asserts that
a) all the bodies were gathered into the houses.
b) all the healthy people stayed indoors.
c) everyone sat with the bodies in their houses.
d) everyone who stayed indoors recovered.

23. In line 3, the best translations of voocovvtag and amoOavévtag are
a) “about to be sick” and “about to die”.
b) “having been sick” and “about to die”.
¢) “to be sick” and “to die”.
d) “who were sick” and “who died”.

24. In line 3, Procopius emphasizes that
a) everyone healthy grieved for the sick and the dead.
b) everyone healthy was occupied with nursing and mourning.
c) many died after tending the sick.
d) the sick were healed.

25. In lines 3-4, Procopius observes that
a) everyone feared the plague.
b) people only ventured out to transport corpses.
c) people who trusted their luck ended up dead.
d) those who were strong enough disposed of the bodies.

26. In lines 4-6, Procopius documents
a) a halt to the city’s economic activity.
b) a labor strike by the city’s craftsmen.
) an increase in the work available to craftsmen.
d) hoarding, as people held on to as much as they could.

27. Inline 7, Procopius’ use of émexwpalev is an example of
a) antithesis. ¢) personification.
b) metonymy. d) understatement.

28. In lines 6-7, which word best identifies the statement of Procopius?

a) deduction ) non sequitur
b) inference d) paradox
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In lines 7-8, Procopius suggests that
a) getting enough food was difficult.
b) it was difficult to get by on bread alone.
c) people found things other than bread to eat.
d) some had no food at all while others had enough.

In line 9, the best equivalent of t1)v Tov Biov KataotQoPMV is
a) bad luck. c) famine.
b) death. d) murder.

In lines 8-9, Procopius concludes that
a) a lack of food actually helped lessen the impact of the disease.
b) life was catastrophic even for those who had food.
c) some people died more from starvation than the disease itself.
d) when food supplies did not arrive in time, the sickness intensified.

In lines 9-10, Procopius observes that
a) no one in Byzantium had ever paid attention to fashion.
b) no one outside of the imperial palace wore fancy clothes.
c) the clothing merchants had always remained discreet.
d) the imperial capital was typically full of people wearing formal dress.

In line 11, the best translation of paAlota émet Bacidet voonoat ovveR is
a) “especially if the emperor should happen to become sick”.
b) “especially since chance governed the sickness”.
c) “especially when the emperor happened to become sick”.
d) “most of all when the illness itself became king”.

In line 11, the tense and voice of ¢xovor) are
a) aorist active. C) present active.
b) aorist passive. d) present middle.

In line 12, the word amavteg refers to

a) Byzantine clothing. c) the empire’s inhabitants.
b) the citizens of Byzantium. d) the sick and dying.

the exam continues on the next page —
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In lines 11-13, Procopius underscores the concern in Byzantium for
a) ensuring that all Romans were adequately clothed.
b) preserving the life of private citizens as well as the royal family.
c) preventing the personal whims of the emperor from harming private citizens.
d) wearing clothes that reflect one’s office in society.

In line 13, fovxn expresses how people éuevov. Where did they most likely do so?
a) &v taig PactAelolg C) €V 101G 0lKOLG
b) év taig 06doig d) év xeootv

In line 13, the best translation for &év ) dAA Pwpaiwv yn is
a) “in lands outside the empire”.
b) “in the land of the other Romans”.
¢) “in the land of the Roman allies”.
d) “in the rest of the Roman empire”.

Which word would a reader expect to find in the text that immediately follows this
passage?

a) Yo ) pévtot
b) 0¢ d) ovv

Which phrase best captures the focus of Procopius in this passage discussing the
plague?

a) imperial politics ¢) social justice
b) medical observations d) urban life
TEAOX
THE END

the reading passage is on the next page —
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The Justinianic Plague of 541 AD

In the sixth century AD, the Bubonic Plague started to sweep across the Roman Empire. The disease
would persist in various areas for two hundred years before reemerging in Europe centuries later as the
infamous “Black Death.” The historian Procopius lived through the initial years of the plague. In this
passage, he describes life in the city of Byzantium, which was capital of the empire at that time.

1 TOTE O’ OV PAdLOV €d0KeL etval €v ye Bulavtiow ayopalovta tiva deLy,

2 AAA” oliol kaOnpevol dnavteg, 6oolg ovVEPRaLve TO owpa €powobat,

3 1) TOUG vooovvtag €0epdmevov, 1) Toug dmobavovtag £0prvouv.

4 NV O€ TS Kal TEOIOVTOG TIVOG TUXELV IOXVOEV, OOE TV TV VEKQWV EQEQEV.
5 €oya e MAVTA EMAVOATO KAl TG TEXVAC Ol TEXVITAL HednKkav anaoag,

6 €oya e AAAa Boa Eka0TOL €V XEQOLV €lXOV. &€V OAeLY ayaba &mavta

7 £X0V0T) ALLOG TIC AKOIPNG ETekWUAleV. AQTOV &pLEAELT) AAAO dlxQKWG ExeLV
8 XAAETOV €D0KEL WOTE KAl TWV VOOOUVTWYV TLOLV XAWEOV CUHBTVaL doKelv

9 ATOQIR TG TEOPTS TV TOL B0V KATACTOOPT)V. TOOS TOVUTOLGS,

10 XAapvdneopoug év BuCavtion magdmav ovdelg édvvato dety,

11 HAaAota ETtel Paotdel voonoatl ouvEéRn, AAA” év oAeL Baotdeiav éxovom

12 twv Popalov mavtwv wg ipatia idiwtov Amavteg vOLOLOKO[EVOL

13 novxn épevov. T pév ovv dp@l T Ao €v te 1) dAAN Popaiov yi katl

14 év BuCavtio tavtn éoyev.

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE EXAM
IN ORDER TO CONSULT THE READING PASSAGE MORE EASILY.
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GLOSSES FOR THE READING PASSAGE

ayopdlw: to go out in public

A&xQofrg, -éc: harsh

apédet: (adv) at all

&ppt: (prep) concerning

Amnog, anaoa, anav: all

amooia, -ag, 1: loss, lack

aQTog, -ov, 0: bread

AwQEOg, -ov: untimely

BaoiAeia, -ag, 1): capital

BaotAevg, -éwg, 0: here, the Roman emperor

BuCavtiov, -ov, t06: the city of Constantinople,
formerly Byzantium, the capital of the
Eastern Roman Empire

Otpkmng, -€q: sufficient

évOLdVOoKw: to wear

émei: (conj) when

émukwpdlw: to run riot

£00w00at = to be healthy

Nv: (conj) if

fovxn: (adv) quietly

Oegamevw: to serve

Oonvéw: to lament, walil

idtwtng, -ov, O: private individual

ipatiov, -ov, To: coat

ioxVw, ioxvoa (aor): to have strength

kaOnuat: to be seated

KATAOTOWT), -T|G, N: collapse

ALpOg, -0ov, 0: famine, hunger

AoLpog, -ov, 0: plague

paAiota: (adv) especially

pebnrav = they let go, gave up

VEKQOG, -0V, 0: corpse

vooéw: to be sick

00¢, 1)0g, T0d¢: (pron) this one

oikot: at home

0600¢, 1, ov: (adj) as many/much as

napanav: (adv) altogether

mEoiovTog = going forward, being before

Pwpaiog, a, ov: Roman

ogvupaivw, ouvéPnv (aor): to happen, to turn
out, to come to pass

taoT): such, thus

TeXvitng, -ov, O: skilled worker

tote: (adv) then

TEOWPT, -TG, 1): nourishment

XAapvdneoog, -ov, 0: one who wears formal
dress

waore: (conj) with the result that

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE EXAM
IN ORDER TO CONSULT THE GLOSSES MORE EASILY.



